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QUESTION 1

Which vSphere feature provides continuous availability, allowing users to protect any virtual machine from a host failure
with no loss of data or connectivity?

A. vSphere vMotion

B. Enhanced vMotion Compatibility
C. vSphere Fault Tolerance

D. vSphere HA

Correct Answer: C

QUESTION 2

An administrator is migrating 100 virtual machines from one ESXi Host to another. The current IGIgE network cards are
only migrating four virtual machines simultaneously.

Which action should the administrator take to increase that number to eight?
A. Add more memory to the ESXI hosts

B. Add a 10GigE network card to each ESXI host

C. Configure port mirroring

D. Configure Load Balancing

Correct Answer: B

QUESTION 3

An administrator wants to ensure that a copy of a virtual machine can still power up on another data center during a
disaster.

Which feature meets this requirement?
A. vSphere Replication

B. vMotion

C. vSphere High Availability

D. Fault Tolerance

Correct Answer: A
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QUESTION 4

What is the purpose of the VMware Tools balloon driver?

A. To improve a VM\\'s memory management capabilities

B. To provide a high-resolution display for the VM\\'s console
C. To improve a VM\\'s network performance

D. To provide fast and efficient communication between VMs

Correct Answer: A

QUESTION 5

Refer to the exhibit:

Which piece of information should a vSphere operator conclude about iSCSI-01?
A. The datastore failed because it reached its capacity limit.

B. The datastore does not have any free capacity.

C. The disk usage on the datastore is above 75%.

D. The datastore usage on disk was reset to green.

Correct Answer: C

QUESTION 6

What does it mean if a virtual machine (VM) has a high RDS score?
A. It requires access to more resource as soon as possible.

B. It has poor performance in the current host.

C. Itis in conflict over access to a shared resource.

D. Its resource requirements are met most of the time.
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Correct Answer: A

QUESTION 7

On a vSphere Standard Switch, which setting should an administrator configure to improve the networking efficiency by
increasing the amount of payload data transmitted with a single packet?

A. VLAN
B. LACP
C. MTU (Bytes)
D. NIC Teaming

Correct Answer: C

QUESTION 8

An administrator has observed an alert message in the vSphere Ul related to a host\\'s storage sensor hardware. Where
should the administrator look for more information related to this alert?

A. Menu > Lifecycle Manager > Baselines

B. Host > Monitor > Skyline Health

C. Host > Monitor > Hardware Health > Storage Sensors
D. Host > Monitor > Hardware Health > System Event Log

Correct Answer: D

QUESTION 9

Which IP storage is supported on vSphere?
A. SCSI

B. vSAN

C. SAN

D. ISCsSI

Correct Answer: D

QUESTION 10

Which VMware feature would an administrator configure to migrate VMs using vSphere vMotion between ESXi hosts
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with different underlying CPU Architectures?
A. Enhanced vMotion Compatibility

B. VSphere HA

C. VMware Fault Tolernace

D. vSphere Storage DRS

Correct Answer: A

QUESTION 11

Which configuration setting ensures that virtual networks on a virtual switch are isolated from each other?
A. Port ID

B. Network Label

C. Security Policy

D. VLAN ID

Correct Answer: D

QUESTION 12

Which file system protocol is supported by vSphere?
A. NFS

B. iSCSI

C. SAN

D. vSAN

Correct Answer: A

QUESTION 13
A vSphere operator discovers a storage problem with the following PDL error message:

Permanently inaccessible device:naa.6000eb31dffc33a0000000000000063 has no more open connections What should
the operator conclude from this error message?

A. A storage device is disconnected, bit it is treated as a transient issue.

B. A storage device has failed and is not expected to become available.
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C. A storage device has failed and is expected to become available.
D. A storage device is disconnected, but it can be reconnected by a host reboot.

Correct Answer: B

QUESTION 14

Which name identifies a VMkernel port in a virtual networking configuration?
A. VM Network

B. vmnicl

C. vmkl

D. vSwitchl

Correct Answer: C

QUESTION 15

Which feature provides a mechanism for a virtual machine to revert to a previous configuration state?
A. vSphere HA

B. Storage I/0O Control

C. Snapshots

D. Bus Sharing

Correct Answer: C
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